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QUESTION 1

You are asked to refer to the Redwood Pattern Book before developing the Redwood application. 

Which three pieces of information are included in the Pattern Book? (Choose three.) 

A. Template introduction 

B. Pictorial representation of data 

C. User manual for Use Cases 

D. Specific page functionality 

E. Composites and components 

Correct Answer: ABE 

The Pattern Book is a collection of templates and patterns that provide guidance and best practices for developing
Redwood applications. It includes a template introduction that explains the purpose and usage of each template, a
pictorial representation of data that shows how to visualize data in different scenarios, and composites and components
that describe the common elements and interactions of Redwood UIs . References: : Oracle Redwood Pattern Book :
Oracle Redwood Design System 

 

QUESTION 2

Which three are exposed in Visual Builder Studio? (Choose three.) 

A. Fusion Cloud Apps database tables 

B. Fusion Cloud Apps action chains developed by Oracle 

C. Redwood templates and patterns 

D. Fusion Cloud Apps REST endpoints 

E. Redwood Ul components 

Correct Answer: CDE 

Visual Builder Studio is a cloud-based development platform that allows you to create and extend applications using
Redwood UI components, templates, and patterns. It also exposes Fusion Cloud Apps REST endpoints that enable you
to access and manipulate data from Fusion Cloud Apps services. Additionally, it provides a code editor, a visual editor,
a Git repository, and a CI/CD pipeline for your development projects . References: : Oracle Visual Builder Studio :
Oracle Visual Builder Studio Documentation 

 

QUESTION 3

You receive a request to create a new page for Fusion users to enable them to see data about orders stored in Fusion
Cloud Apps. How will you fulfill this request? 
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A. This is not possible, without SQL access to the Fusion database. 

B. Spin up an instance of WebLogic and deploy a Visual Builder app on top of it. 

C. Spin up a new instance of Visual Builder and deploy a stand-alone app. 

D. This can be achieved with VB Studio in Fusion Apps. 

Correct Answer: D 

The best option to fulfill this request is to use VB Studio in Fusion Apps. This is a feature of Visual Builder Studio that
allows you to create AppUI extensions for Fusion Apps pages. You can use the same development platform that Oracle
Cloud Applications are built on, leveraging the Redwood design system, templates, patterns, and components. You can
also access data from Fusion Apps using the service catalog and deploy your extensions directly to your Fusion Apps
instance. References: : AppUI Extensions in Visual Builder Studio : Getting Started with Visual Builder Studio for Fusion
Apps Extensions 

 

QUESTION 4

The Redwood template your page is based on has a primary action button. 

How do you control what it does? 

A. Create an action chain mapped to the template\\'s primary action event, at the template level. 

B. You cannot. The functionality is determined by the original template. 

C. Remove the existing button from the template and add your own. 

D. Create an onAction action chain on that button. 

Correct Answer: A 

The primary action button is a UI component that represents the main action that the user can perform on a page. It is
usually located at the top right corner of the page and has a prominent color and style. The primary action button is
defined by the Redwood template that your page is based on, and its functionality is determined by an action chain
mapped to the template\\'s primary action event at the template level. You can create or modify this action chain to
control what the primary action button does on your page . References: : Primary Action Button in Redwood Pattern
Book : Action Chains in Visual Builder Studio 

 

QUESTION 5

Redwood uses dynamic padding to provide users with the most comfortable experience regardless of the device and
viewport size. 

Which are the two correct statements about dynamic padding? (Choose two.) 

A. In small breakpoints the marquis disappear because the container spans the viewport\\'s width 

B. Padding is the space between margins and the left and right edges of the containers. 

C. In Edge-to-Edge layout, the margins disappear because the container spans the viewport\\'s width. 
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D. There is a space between the container and the top and bottom edges of the viewport. 

Correct Answer: AC 

The two correct statements about dynamic padding are: 

In small breakpoints the marquis disappear because the container spans the viewport\\'s width. 

In Edge-to-Edge layout, the margins disappear because the container spans the viewport\\'s width. 

Dynamic padding is a feature of Redwood that adjusts the padding and margins of containers according to the viewport
size and layout type. This ensures that there is enough space around the content for comfortable reading and
interaction. 

In small breakpoints, such as mobile devices, there is no need for marquis (the space between containers) because
there is only one container per row. In Edge-to-Edge layout, there is no need for margins (the space between containers
and 

viewport edges) because the container fills up the entire width of the viewport. References: : Dynamic Padding in
Redwood Design System 
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